ool Obddobbdododoobbbodoooood

uoboooboboooboobbooobo,oboooooobobaoobooo

2
O°E = u ‘;TEZ) (A.1)
D=¢E+P, (A.2)

uoboboooogogooboggooobooyodoobobenbooobboboooonbon
uobboooman o, 00o000bobaoabobooobobmobooooboooaoboon
0000000000000 00D00OD000000000000d 0000000 w,
goboobboobooooboobbooboon
goboogbboobooobboobooobboobobooooboon

E=%UX[E(r,t)exp( jw,t) + c.c.] (A.3)

000 E(,t)000000000O00000O000O0O0OO0O000DOO00OW, 00000
gboboooboboooboobboobod e. e. DOo0ooonooDd
uobooobboobooobboobonboobbooboon

n=n, +n,| E| (A.4)
oo0o0o@.2)0ooo0oooooooooaon
D:£E+PNL:eo(n0+n2|E|2—j%)2E (A.5)

O00eO0000O0O0OO00O0OKkOODOw,/cO00O0 OOOODOOOOOOOODOOO
O0000oooopooobo eE00OOLO, 0000000000

eEzeo(nOZ—jZno%)E (A.6)

Pw=2&n,n,|E |2 E (A.7)

00000000 E(r) 00000000000 R(r,AOOOOODOODODO
A(zt)exp(-jB,z) 00000000
E(r.t)=R(r.8) A(z,t)exp (=] B, 2) (A.8)

000B,0000000000000000000000000 (A.3)0(A.8)0(A.1)0
D000 D0E0O000000O000OO
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9°? 10 1 9?2 a°

O°E = u t ——+ ———+ —) e A.9
X(ar2 ror r®o08°? 622) X -9
Udbedd0noobOOoOoOoonOn

eX:%R(r,Q) A(z,t)exp (-] (wit — B, 2)) +c.c. (A.10)

yANn2k<@ﬂA|DDDD@&MDDDDDDDDDDD

1 0’°R 10R 1 0°R
’E==u A(zt SR PN
2 « (| CAC )(6r2 ror r?o06°

exp(j(wpt-52) + cc)

)+ ROO(-126, - 52 A)

(A.11)
000Q.D)00000000A.6)0(A.7) 0 (A.3)0(A.8)00000000000
9% (¢E 1 . a
My ‘;tz ):_Euxkz(noz_JznoI)
(R(r,0) A(zt)exp(j(wpt-By2)) + cc.)

(A.12)

0° P,

Ho =t =-uk’nn,|E[

(A.13)
(R(r.6) Azt exp (j (@t - 5o 2)) + cc.)

0(A.11), (A.12), (A.13)0(A.1)D000O000O000O000O000

{OZR 10R 1 4°R
( + +

ar? rar r29e° )+(k2n2_ﬁ°2)R}A

oA (A.14)
(=285 - j2kna A+2k*nn,|[E["A)R =0

00000000000 R(r,/00O0DOO0DODODOD

°R 10R 104°R
( + +

ar2 ror r_zaez)Jr(kznz_ﬂz)R}O (19

(A.14)0 (A.15) 000000000
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(8- B2) RA+ (= 126,55 - j2kna A+ 2k, |RF | AF A)R=0

(A.16)

(A.16)0 0

27T

j j(A16) OR rdrdg=0 (A.17)

0 O
00000000 SO000O000O0O0OO0n

. V- , )
(B —,BO)A—jZ,B()E— j2kna A+2k*nn, n|A['A=0 (A.18)

uobodpbgobboooboobbooboobbooboobbda boooboan
oobooooo0o0oboOoboOoOobooOOoooDboOobobOOoUoOno 3dBoObDOObDOOOD
gooog

reid 2
27 2 (A.19)
]

B=pB,=knO00(A.18)0 2knO0000000OOO

0A
(B-Bo) A=z —jaA+> kn2|A|A 0 (A.20)

0000w, 0000000000000 OO0ODOOO

(B-By)=(@-@) B, + %(w—wof B, + é(w—wo)‘*’ﬁg + (*.21)

uobooobooooboobobobobaoboon

0A

H—J(w W) A (A.22)
0°A
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°A_ .
F: - j (w-w)’ A (A.24)

(A.21)0 (A.20)0 0000 (A.22)0(A.24)000000000000000 A(zt)OO
Ooo0O0O0O00O000

oA aA 1
{ = +ﬁ1 } ,Bz o1 Bt okn|AfA (25

0000000000000 00000000000000000000 A(zt)oO
O0000D0ODODODOO0O0000O0O0OoDoOODOOOdd (Nonlinear Schrodinger Equation)
000000@.25)00000000 vODOOOOOO0OO0O000000

A(zt) =¢(z1)

A.26
rT=t-pz (A-26)
DDDDDDDDDDDDDDDDDDﬁlz1/VgDD[|D
0 . 02 1
af_ _ﬁz ¢ 183 ¢_J§kn2|¢|2¢ (A.27)

(A.2noo0o0ooobopgbooo0o0oOoo0obOobOooOoooO0obOoboboobogbppboo

uobooobboobooobobooboboobooaonboo
J

d—z¢-[A+B](p (A.28)

uooogoonooooood

0”'2 1 a°3 a'
o+ = - A.29
'82 G'BSJT3 2 (A-29)
1 2 d|§0|2
B=-j=—k - A.30
i3 n, [|o] o (A.30)

(A3p)OODO0OOoooDogpgoooobooobboOobbooooooboy, 000D OoO
oobooo0oOo0o0oboobOo0obobO0oooDOoOobobOOoooOoUobs fsOOOoboOoOooo
@'=2g00000000000000000D0O0O0UOO0ODOD psOOOOOOODOOO
gobooobobooboobbooboobbaoobooo
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